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Benha university Final-Term Exam (corrective)
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Answer the following questions:

Q1:(a) The JFET in the circuit of fig.(1) has V, = -3V, Ipss = 9mA and A = 0. Find
the values of all resistors so that Vg = 5V, Ip =4 mA and Vp = 11V. Design
for 0.05 mA in the voltage divider.

(b) Find V/V; for the network shown in fig.(2) if both op amps are considered
to be ideal.

Q2: The NMOS transistor in the amplifier circuit shown in fig.(3) has V=1 V and
Ki:=1mA/V?, and V,=100V.
(a) Determine the Ip, Vgs, Vp, gm and r,.
(b) Determine Rin, Rou, and the overall voltage gain.

Q3: Consider the common gate amplifier shown in fig.(4) with transistor parameter
gm =2mA/V. If I = ImA, Vpp= Vss= 5V, Rg= 1 MQ, Rp = R;= 3kQ using
T-model determine the small signal voltage gain A, = (v, &), the input
resistance Ri,, and the output resistance Ry

Q4: The two op amps in the circuit shown in fig.(5) are ideal. Find v, ,ix and .

QS: Find the voltage gain v,/v; and the differential input resistance of the amplifier
shown in fig. (6). Assuming = 100.
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_ 'Qs Consider the common gate amplifier
" shown in fig. (4) with transistor
parameter g, =2mA/V.If[= ImA,
VDD=V53=5V,RG=1 MQ, RD*RL?- X =
3k using T-model determine the smal| r-'"-ﬁ
signal voltage gain A, = (v, ), the = R;
input resistance Ry, and the output
resistanice R,,,.
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@y ) The two op amps in the circuit
shown in fig.(5) are ideal. Find

Vo,Ixand i,.
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¢@5) Find the voltage gain and the input resistance of the
amplifier shown in fig.(g) assuming that § = 100.

Solution:

i = G 4R) (2*@*295\
= 203) e+ Jée )

=20\ +1ee) (Bor159) = 40 4 woo.






